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Number of Questions : 25

Number of Questions to be attempted : 25

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511427
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 86435128305 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A conscientious employee is always admired by his employers.

Which of the following best describes the underlined word of the above
sentence?

1. Skillful

2. Dexterous

3. Clever
4. Careful
Options:

86435197671. 1
86435197672. 2
86435197673. 3
86435197674. 4

Question Number : 2 Question Id : 86435128306 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



| requested him to look after my things because | can confide him.

1. on
2. fo
3. in
4, with
Options :

86435197675. 1
86435197676. 2
86435197677.3

86435197678. 4

Question Number : 3 Question Id : 86435128307 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the most suitable synonym “Zenith'.
1.  Middle
2. Pinnacle
3. Under
4. Contaminate
Options :
86435197679. 1
86435197680. 2

86435197681. 3

86435197682. 4

Question Number : 4 Question Id : 86435128308 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Rajesh stood Smita, but could not utter a single word for quite some
time.

1. for

2. with

3. before

4. towards
Options:

86435197683. 1
86435197684. 2
86435197685. 3
86435197686. 4

Question Number : 5 Question Id : 86435128309 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following words can most appropriately replace the underlined
group of words in the sentence?

The saint impressed everyone with his persuasive and fluent speech.

1. Lecture

2. Discourse

3. Expression

4. Eloquence
Options :
86435197687. 1
86435197688. 2

86435197689. 3

86435197690. 4



Question Number : 6 Question Id : 86435128310 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the most suitable antonym ‘Prey’.

1.  Predator
2. Animal N
3. Unprey
4. Deer
Options:

86435197691. 1
86435197692. 2
86435197693. 3

86435197694. 4

Question Number : 7 Question Id : 86435128311 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the idiom ‘'seeing eye to eye' from the options given
below :

1. Agreeing with somebody

2. Treating someone with respect

3. Paying close attention to something someone is saying
4. Identifying a minor mistake

Options:

86435197695. 1
86435197696. 2
86435197697. 3

86435197698. 4



Question Number : 8 Question Id : 86435128312 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct spelling of the following :
1.  Miselaneous
2. Miscellaneous

3. Missceelanous

N

4. Micelaeous
Options :
86435197699. 1
86435197700. 2
86435197701. 3

86435197702. 4

Question Number : 9 Question Id : 86435128313 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

He is not hardworking, he is intelligent.
1. though
2. even though
3. notwithstanding
4.  but

Options :

86435197703. 1
86435197704. 2
86435197705. 3
86435197706. 4



Question Number : 10 Question Id : 86435128314 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete the second sentence by selecting the appropriate option given
below :

| did not work hard at school. Consequently

1. 1 did well at university
2. | failed most of my exams
3. |did not work hard in college

4. | was good at Mathematics
Options :
86435197707. 1
86435197708. 2
86435197709. 3

86435197710. 4

Question Number : 11 Question Id : 86435128315 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the number which is different from others in the group.

1. 48

e 12

3. 36

4. 59 3
Options:

86435197711.1
86435197712. 2
86435197713. 3

86435197714. 4



Question Number : 12 Question Id : 86435128316 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the series 7, 14, 28, ........ , what will be the 10" term ?
1. 1792
2. 2456
3. 3584
4. 4096
Options :

86435197715. 1
86435197716. 2
86435197717.3

86435197718. 4

Question Number : 13 Question Id : 86435128317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What term will fill the blank space?

A,C,F,H 2, M
1. L
2 K
3.
4. |
Options :

86435197719.1
86435197720. 2
86435197721. 3

86435197722. 4



Question Number : 14 Question Id : 86435128318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a certain code, RIPPLE is written as 613382 and LIFE is written as 8192.
How is PILLER written in that code?

1. 318826
2. 318286
3. 618826
4. 338816

Options :

86435197723. 1
86435197724. 2
86435197725.3

86435197726. 4

Question Number : 15 Question Id : 86435128319 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

When Anuj saw Manish, he recalled “He is the son of the father of my
daughter.” Who is Manish?

1. Brother-in-law

2. Brother

3. Cousin

4.  Uncle
Options :

86435197727. 1
86435197728. 2

86435197729. 3



86435197730. 4

Question Number : 16 Question Id : 86435128320 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the given words in alphabetical order and tick the one that comes first.

1. Nature

2. Native

3. Narrate

4. Nascent
Options :

86435197731. 1
86435197732. 2
86435197733. 3

86435197734. 4

Question Number : 17 Question Id : 86435128321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Manish ranked sixteenth from the top and twenty-ninth from the bottom among
those who passed an examination. Six boys did not participate in the
competition and five failed in it. How many boys were there in the class?

1. 40
2. 44
3. 40
4. 55
Options :

86435197735. 1
86435197736. 2

86435197737.3



86435197738. 4

Question Number : 18 Question Id : 86435128322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If x means —, + means +, — means x and + means +, then
15-2+900+90x100=7

1. 190

2. 180

3. 90

4 None of these

Options:

86435197739. 1
86435197740. 2
86435197741.3

86435197742. 4

Question Number : 19 Question Id : 86435128323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find the number of triangles in the given figure :

1 10
2. 19
3. @&
4. 7

Options :



86435197743. 1
86435197744. 2
86435197745. 3

86435197746. 4

Question Number : 20 Question Id : 86435128324 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Greta Garbo is associated with
1. classical dance

2 acting

3. music

4 literature
Options :
86435197747. 1
86435197748. 2
86435197749. 3
86435197750. 4

Question Number : 21 Question Id : 86435128325 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Who created the famous Rock Garden of Chandigarh?
1. Gaudi
2 Nek Chand
3. Saarinen
4 Krishnarao Jaisim
Options :
86435197751. 1

86435197752. 2



86435197753. 3

86435197754. 4

Question Number : 22 Question Id : 86435128326 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Who among the following is regarded as the leader of Chipko Movement?

1. Medha Patkar

2. Baba Amte
3. Sundarlal Bahuguna
4.  Kiran Bedi

Options :

86435197755. 1
86435197756. 2
86435197757. 3

86435197758. 4

Question Number : 23 Question Id : 86435128327 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hamija folk dance is related with which of the following tribes?
1. Rabha tribe
2.  Bhil tribe
3. Bonda tribe
4. Gond tribe
Options:
86435197759. 1
86435197760. 2
86435197761. 3

86435197762. 4



Question Number : 24 Question Id : 86435128328 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Recently 'Echo and Bifrost' were in the news. These are related to
1.  Satellites
2. Undersea Internet cables
3. Supercomputers
4. Defence sophisticated weapons
Options :
86435197763. 1
86435197764. 2
86435197765. 3

86435197766. 4

Question Number : 25 Question Id : 86435128329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is the oldest dynasty?

1. Gupta

2 Maurya

3. Kanva

+ Kushan
Options :

86435197767. 1
86435197768. 2
86435197769. 3
86435197770. 4



Part B-Yoga Therapy

Section Id : 8643511195
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511428
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 86435128330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Who is considered as the founder of Yoga?
1.  Bhagwan Krishna
2. Lord Ramachandra
3. Aadinath Shiva

4. Maharishi Patanjali
Options :
86435197771.1
86435197772. 2
86435197773. 3

86435197774. 4

Question Number : 27 Question Id : 86435128331 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Archeological evidences of which civilization show that Yogasanas were
practiced 3000 years back?

1. Mohenjodaro and Harappan
2. Indusvalley
3.  Akkadian

4. Sumerian
Options:
86435197775. 1
86435197776. 2
86435197777. 3

86435197778. 4

Question Number : 28 Question Id : 86435128332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Patanjali Yoga Sutra was documented in

1.

9th century

2. Tth century

3. 15th century

4. 18th century
Options :

86435197779.1
86435197780. 2
86435197781. 3

86435197782. 4



Question Number : 29 Question Id : 86435128333 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a book on Yoga philosophy?
1.  Patanjali Yoga Sutra
2. Bhagavad Gita
3. Yogic Sukshma VVyayama

4. Yoga Vasistha
Options :
86435197783. 1
86435197784. 2
86435197785. 3

86435197786. 4

Question Number : 30 Question Id : 86435128334 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who is the author of Hatha Yoga Pradipika?
1. Maharishi Gheranda
2. Swami Satyananda Saraswati
3. Adi Shankaracharya
4. Swami Svatmarama

Options:

86435197787. 1

86435197788. 2

86435197789. 3

86435197790. 4

Question Number : 31 Question Id : 86435128335 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following is not a misconception?
1.  Yoga is for old-aged, saints
2 Yoga means only asanas, pranayama and meditation
3. Yoga is a means to liberation
4 Yoga can be practiced anytime, anywhere
Options :
86435197791. 1
86435197792. 2
86435197793. 3
86435197794. 4

Question Number : 32 Question Id : 86435128336 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Yoga is to embrace

1.  Indulgences
2. Over-thinking
3. Oneness with universe
4. Possessiveness
Options :
86435197795. 1
86435197796. 2
86435197797. 3

86435197798. 4

Question Number : 33 Question Id : 86435128337 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



‘fuj Samadhau means
1. Yoga is not all about finding peace
2. Yogais not all about reaching peak of a mountain
3. Goal of yoga is Samadhi
4. Yoga connotes concentration
Options :
86435197799. 1
86435197800. 2
86435197801. 3

86435197802. 4

Question Number : 34 Question Id : 86435128338 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Sthula, Sukshma and are the Tri-sharira.
1. Bhautika
2. Adhyatmika
3. [Kaarana
4. Karma
Options :
86435197803. 1
86435197804. 2
86435197805. 3

86435197806. 4

Question Number : 35 Question Id : 86435128339 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



‘Prana’ means

1.  Knowledge

i Cosmic energy
3. Intellect

4 Memory

Options :

86435197807. 1
86435197808. 2
864351978009. 3

86435197810. 4

Question Number : 36 Question Id : 86435128340 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Chitta connotes

—

mind
2 reservoir of impressions
3. judgmental faculty
4 cluster of thoughts
Options :
86435197811. 1
86435197812. 2
86435197813. 3

86435197814. 4

Question Number : 37 Question Id : 86435128341 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following is not a technique for ‘Dharana’?
1. Performing Simhasana
2. 3ingle thought consciousness
3. Bindu Tratak
4. Concentrating only on breath
Options :
86435197815. 1
86435197816. 2
86435197817. 3

86435197818. 4

Question Number : 38 Question Id : 86435128342 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Patanjali Yoga Sutra, Kriya Yoga comprises the techniques of

1. Yama

2. Triguna

3. Niyama

4. Asana
Options :

86435197819. 1
86435197820. 2
86435197821. 3
86435197822. 4

Question Number : 39 Question Id : 86435128343 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Concept of Ghatashuddhi is explained in
1. Hatharatnavali
2. Gheranda Samhita
3. Hatha Yoga Pradipika
4. Patanjali Yoga Sutra
Options :
86435197823. 1
86435197824. 2
86435197825. 3

86435197826. 4

Question Number : 40 Question Id : 86435128344 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the definition of health given by the World Health Organisation, a significant
parameter of health is missing, which one is that?

1. Intellectual
2. Social
3. Spiritual

4. Emotional
Options :
86435197827. 1
86435197828. 2
86435197829. 3

86435197830. 4

Question Number : 41 Question Id : 86435128345 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Jnana Yoga is a path of
1. Reading scriptures, Vedas, Upanishads
2. Devotion through worship
3. Selfless karma

4. Ashtanga marga
Options :
86435197831. 1
86435197832. 2
86435197833. 3
86435197834. 4

Question Number : 42 Question Id : 86435128346 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
in Patanjali Yoga Sutra, Dharmamedha Samadhi is explained in the

1 Samadhi Pada
2 Sadhana Pada
3. Kaivalya Pada

4. Vibhuti Pada
Options :
86435197835. 1
86435197836. 2
86435197837.3

86435197838. 4

Question Number : 43 Question Id : 86435128347 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The concept of Pathya and Apathya is a part of

: Vihara
2. Mitahara
3 Yama

4. Pratyahara
Options :
86435197839. 1
86435197840. 2
86435197841. 3

86435197842. 4

Question Number : 44 Question Id : 86435128348 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What do you mean by the word "Aadhi’ in the context of ‘Aadhija Vyadhi'?

1. Suffering

2. Discomfort

3. Amplified likes and dislikes

4. Severe disconnection with society

Options :

86435197843. 1
86435197844. 2
86435197845. 3

86435197846. 4

Question Number : 45 Question Id : 86435128349 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Practice of Dharana can be easily done through

1. Vamana dhauti
2. Kapalabhati
3. Jala neti
4. Trataka

Options :

86435197847. 1

86435197848. 2

86435197849. 3

86435197850. 4

Question Number : 46 Question Id : 86435128350 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a practice component of Bahiranga Yoga?
1. Dharana

2. Pranayama

3. Asana
4. Yama
Options :

86435197851. 1
86435197852. 2
86435197853. 3

86435197854. 4

Question Number : 47 Question Id : 86435128351 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Dhyana is a technigue of

1. effortless concentration
2.  effortful concentration
3. effortless dwelling
4.  mindful thinking

Options :

86435197855. 1

86435197856. 2

86435197857. 3

86435197858. 4

Question Number : 48 Question Id : 86435128352 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The two important pillars on which the Yoga sadhana stands are

1. Abhyasa and Tapasya
2. Japaand Tapa
3. Abhyasa and Vairagya
4. Tapas and Vairagya
Options :
86435197859. 1
86435197860. 2
86435197861. 3

86435197862. 4

Question Number : 49 Question Id : 86435128353 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Maharishi Patanjali states which two important criteria for practice of ‘Asana’?

1. Dhairyam and Sthairyam
2. Vairagya and Aishvaryam
3. Abhyasa and Nirogta
4. Sthirata and Sukhata

Options :

86435197863. 1

86435197864. 2

86435197865. 3

86435197866. 4

Question Number : 50 Question Id : 86435128354 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pause in inhalation and exhalation is named as

1. Puraka

2. Kumbhaka

3. Rechaka

4. Afipuraka
Options :

86435197867. 1
86435197868. 2
86435197869. 3

86435197870. 4

Question Number : 51 Question Id : 86435128355 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Choose the missing term out of the given alternatives :
TR TU, TX TA.TD

L F
2 B
3 H
4. |
Options :

86435197871. 1
86435197872. 2
86435197873. 3

86435197874. 4

Question Number : 52 Question Id : 86435128356 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Erosion of America's farmland by wind and water has been a problem since
settlers first put the prairies and grasslands under the plow in the nineteenth
century. By the 1930s, more than 282 million acres of farmland were damaged
by erosion. After 40 years of conservation efforts, soil erosion has accelerated
due to new demands placed on the land by heavy crop production. In the years
ahead, soil erosion and the pollution problems it causes are likely to replace
petroleum scarcity as the nation's most critical natural resource problem.

The author has stated in the above passage that soil erosion in America

iy

occurs only in areas with no vegetation
2. can become a more serious problem in the future
3. causes humans to place new demands on the land

4. was on the decline before 1930s
Options :
86435197875. 1
86435197876. 2
86435197877. 3

86435197878. 4



Question Number : 53 Question Id : 86435128357 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Read the paragraph to answer the question below :

...Repairs to electrical equipment may only be carried out by professionals.
Improper repairs can lead to considerable risks to users. For this reason,
please always contact our customer service department. Only original spare
parts meet all requirements. Children do not see the dangers arising from
improper handling of electrical appliances. As such, always ensure that children
are supervised while this device is switched on. If you dispose of this electrical
appliance and replace it with a new one, make sure to disassemble the door
lock so it becomes unusable and cut off the power cord. Then dispose off the
device in an environmental friendly manner...

To which electrical appliance would this user manual belong?

1. A coffee maker
2. Aniron
3. A washing machine
4. An electric kettle

Options:

86435197879. 1

86435197880. 2

86435197881. 3

86435197882. 4

Question Number : 54 Question Id : 86435128358 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The diagram below shows a square which has some characters in it. Based on
the relationship between the given alphabets, find the '?’ character.

B G N
D J R
G N ?
1.V
2 X
3 U
4. W
Options :

86435197883. 1
86435197884. 2
86435197885. 3

86435197886. 4

Question Number : 55 Question Id : 86435128359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find out the alternative that can replace the question mark.

Tape : Paper Tear :: Knee Scrape : 7

1. Soap

2. Band-aid

3. Scissor

4. Cotton
Options :

86435197887. 1
86435197888. 2
86435197889. 3

86435197890. 4



Question Number : 56 Question Id : 86435128360 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the same relationship from given four choices as given in original :

Square : Cuba
1. Triangle : Prism
2. Line: Cylinder
3. Circle : Sphere

4. Sphere: Earth
Options :
86435197891. 1
86435197892. 2
86435197893. 3

86435197894. 4

Question Number : 57 Question Id : 86435128361 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An antonym for ‘Suffice’ is

1. agree

2. refuse

3. angry

4. accept
Options :

86435197895. 1
86435197896. 2
86435197897. 3

86435197898. 4



Question Number : 58 Question Id : 86435128362 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An antonym for ‘Devoid’ is
1. loaded
2. avoid
3. incomplete

4. delineate
Options :
86435197899. 1
86435197900. 2
86435197901. 3

86435197902. 4

Question Number : 59 Question Id : 86435128363 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A synonym of ‘Diplomat’ is

1 serviceman

2. policeman
3 ambassador

4. chauffeur
Options :
86435197903. 1
86435197904. 2
86435197905. 3

86435197906. 4



Question Number : 60 Question Id : 86435128364 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A synonym of Taskmaster' is

1. servant

2. chief

3. driver

4. mason
Options:

86435197907. 1
86435197908. 2
86435197909. 3
86435197910. 4

Question Number : 61 Question Id : 86435128365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Do you expect overnight in your new venture?

1. successful
2. success
o succession

4. None of these
Options :
86435197911. 1
86435197912. 2
86435197913. 3

86435197914. 4



Question Number : 62 Question Id : 86435128366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Choose the most appropriate option for the underlined part of the sentence:
NASA reports that ancient observers took note of solar eclipses at least as far

back as 2500 BC, as evidenced by surviving records from ancient Babylon and
China.

1. as evidenced by surviving records from
2. as the evidence that has survived from the records of
3. as shows the evidence of records surviving in

4.  as the surviving records show the evidence of
Options :
86435197915. 1
86435197916. 2
86435197917. 3

86435197918. 4

Question Number : 63 Question Id : 86435128367 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The accused having made any statement.

i B refused
2. rejected
3. declaimed

4. denied
Options :
86435197919. 1
86435197920. 2
86435197921. 3
86435197922. 4



Question Number : 64 Question Id : 86435128368 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Rohan has few friends because he is and cares only about
himself.
1. mundane

2. egocentric

3. caring
4. lazy
Options :

86435197923. 1
86435197924. 2
86435197925. 3

86435197926. 4

Question Number : 65 Question Id : 86435128369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find the odd one out.

1. May

2. August

3. June

4. January
Options :

86435197927. 1
86435197928. 2
86435197929. 3

86435197930. 4



Question Number : 66 Question Id : 86435128370 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the odd one out.

; 8 Lucknow

2.  Panaji

3. Kolkata

4. Kanpur
Options :

86435197931. 1
86435197932. 2
86435197933. 3

86435197934. 4

Question Number : 67 Question Id : 86435128371 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

From the given options, choose a sentence which is most appropriate and
grammatically correct.

1. If you want to retire early, then you start saving now.
2. If you want to retire early, when you start saving now.
3.  You want to retire early, if you start saving now.

4.  If you want to retire early, you need to start now.
Options:
86435197935. 1
86435197936. 2
86435197937. 3
86435197938. 4



Question Number : 68 Question Id : 86435128372 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

From the given options, choose a sentence which is most appropriate and
grammatically correct.

1. What do you think believes the story that man is?
2. Who do you think believes the story who the man stole the painting?
3. Who do you think believes the story that the man stole the painting?

4. Who do you think believes the story that stole the painting?
Options :
86435197939. 1
86435197940. 2
86435197941. 3
86435197942. 4

Question Number : 69 Question Id : 86435128373 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| have been waiting for you seven o’ clock.
1. since
2. for
3. from
4. at
Options :

86435197943. 1
86435197944. 2

86435197945. 3



86435197946. 4

Question Number : 70 Question Id : 86435128374 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The group of scholars going to the conference.
1. are
2. 15
3. have
4. had
Options:

86435197947. 1
86435197948. 2
86435197949. 3

86435197950. 4

Question Number : 71 Question Id : 86435128375 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A quarter of the fans upset by the half-time show.
1. was
2.  have
3. were

4. were not
Options :
86435197951. 1
86435197952. 2

86435197953. 3



86435197954. 4

Question Number : 72 Question Id : 86435128376 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Our boss is
1. charitable
2. philanthropic
3.  philanthropist
4. charity
Options :
86435197955. 1
86435197956. 2
86435197957. 3
86435197958. 4

Question Number : 73 Question Id : 86435128377 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the odd one from the given options.

1. Boll
2. Peel
3. Fry
4. Bake
Options :

86435197959. 1
86435197960. 2
86435197961. 3

86435197962. 4



Question Number : 74 Question Id : 86435128378 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Choose the correct spelling.
1. Comemorate
2.  Commemorate
3. Camemorate
4. Comemmorate
Options :
86435197963. 1
86435197964. 2
86435197965. 3

86435197966. 4

Question Number : 75 Question Id : 86435128379 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find out the correct spelling.
1.  Acquintance
2. Acquaintance
3. Aquaintence
4. Agquaintance
Options :
86435197967. 1
86435197968. 2
864351979609. 3

86435197970. 4

Question Number : 76 Question Id : 86435128380 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
The popular Northeastern River of India is
1. Narmada
2. Godavari
3. Brahmaputra
4. Krishna
Options:
86435197971. 1
86435197972. 2
86435197973. 3
86435197974. 4

Question Number : 77 Question Id : 86435128381 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Lavani, Nakata, Koli, Dahikala Dasavtar are famous folk dances of
1. Madhya Pradesh
2. QOdisha
3. Sikkim
4. Maharashtra
Options :
86435197975. 1
86435197976. 2
86435197977. 3

86435197978. 4

Question Number : 78 Question Id : 86435128382 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The official language of Jammu and Kashmir is

1. Kashmiri

2. Dogri

3. Urdu

4. Pharsi
Options :

86435197979. 1
86435197980. 2
86435197981. 3

86435197982. 4

Question Number : 79 Question Id : 86435128383 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The largest Union territory of India in terms of area is
1. Lakshadweep
2. Ladakh
3. Chandigarh
4. Jammu and Kashmir
Options :
86435197983. 1
86435197984. 2
86435197985. 3

86435197986. 4

Question Number : 80 Question Id : 86435128384 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



National Tree
1. Indian Gooseberry
2. Indian Banyan
3. Indian Peepal
4. Indian Arjuna
Options :
86435197987. 1
86435197988. 2
86435197989. 3

86435197990. 4

Question Number : 81 Question Id : 86435128385 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The capital of Bhutan is

1. Gangtok

2. Imphal

3. Thimphu

4.  Siliguri
Options :

86435197991. 1
86435197992. 2
86435197993. 3

8643519799%4. 4

Question Number : 82 Question Id : 86435128386 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



is the capital of Malaysia.

1.  Male

2. Kuala Lumpur

3 London
4. Seoul
Options :

86435197995. 1
86435197996. 2
86435197997. 3
86435197998. 4

Question Number : 83 Question Id : 86435128387 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is the capital of Afghanistan?

1. Luanda

2. Algiers

3. Tirana

4. Kabul
Options:

86435197999. 1
86435198000. 2
86435198001. 3

86435198002. 4

Question Number : 84 Question Id : 86435128388 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What is the official currency of Russia?
1.  Ruble
2. Euro
3. Belarusian ruble
4. Dinar
Options :
86435198003. 1
86435198004. 2
86435198005. 3

86435198006. 4

Question Number : 85 Question Id : 86435128389 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The currency of Nepal is

1.  Rupee
2. Taka
3. Paise
4. Pound
Options :

86435198007. 1
86435198008. 2
86435198009. 3

86435198010. 4

Question Number : 86 Question Id : 86435128390 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A significant variation is seen in the length of day-night time from season to
season. What among the below statements is the most appropriate reason of
this variation?

1.  Earth's rotation on its axis

2. Earth’s revolution around the sun in an elliptical manner
3. Both1and2
4. Revolution of earth on a tilted axis

Options:

86435198011. 1
86435198012. 2
86435198013. 3

86435198014. 4

Question Number : 87 Question Id : 86435128391 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Name the outermost boundary of the cell.
1. Plasma membrane
2. Cytoplasm
3. Nuclear membrane

4.  Endoplasmic reticulum
Options :
86435198015. 1
86435198016. 2
86435198017. 3

86435198018. 4

Question Number : 88 Question Id : 86435128392 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which is called the powerhouse of a cell?
1. Cellwall
2. Mitochondria
3. Ribosome

4.  Nucleus
Options :
86435198019. 1
86435198020. 2
86435198021. 3
86435198022. 4

Question Number : 89 Question Id : 86435128393 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Name the tissue which detects changes inside and outside the body and
respond by action potential?

1. Epithelial tissue
2. Connective tissue
3. Muscular tissue

4.  Nervous tissue
Options :
86435198023. 1
86435198024. 2
86435198025. 3

86435198026. 4

Question Number : 90 Question Id : 86435128394 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which type of connective tissue is our lymph?
1. Fluid connective tissue
2. Vascular tissue
3. Skeletal tissue

4.  Muscular tissue
Options :
86435198027. 1
86435198028. 2
86435198029. 3

86435198030. 4

Question Number : 91 Question Id : 86435128395 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hip is a type of joint.

[ ball and socket

2. fixed

3. hinge

4. gliding
Options :

86435198031. 1
86435198032. 2
86435198033. 3

86435198034. 4

Question Number : 92 Question Id : 86435128396 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The top chambers of the heart are called the

1.  ventricle
2.  septum
3. aorta

4. atrium

Options :

86435198035. 1
86435198036. 2
86435198037.3

86435198038. 4

Question Number : 93 Question Id : 86435128397 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The part of the brain responsible for involuntary actions such as breathing,
swallowing and heartbeat is the

1. cerebrum
2. cerebellum
3. medulla oblongata

4. spinal cord
Options :
86435198039. 1
86435198040. 2
86435198041. 3

86435198042. 4

Question Number : 94 Question Id : 86435128398 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which organ of the human body are the lymphocyte cells formed?
1.  Liver
2. Bone Marrow
3. Pancreas

4. Spleen
Options :
86435198043. 1
86435198044. 2
86435198045. 3

86435198046. 4

Question Number : 95 Question Id : 86435128399 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which artery carries deoxygenated blood from heart to lungs?

1. Pulmonary vein

2. Pulmonary artery

3. Aorta

4. Coronary artery
Options :
86435198047. 1
86435198048. 2
86435198049. 3

86435198050. 4

Question Number : 96 Question Id : 86435128400 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The elements present in the carbohydrates are
1.  Carbon, Hydrogen and Oxygen
2. Carbon, Hydrogen and Nitrogen
3. Hydrogen, Oxygen and Sulphur

4. Carbon, Oxygen and Nitrogen
Options :
86435198051. 1
86435198052. 2
86435198053. 3

86435198054. 4

Question Number : 97 Question Id : 86435128401 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Legumes are rich source of

—

animal protein
2. animal fat
3. plant protein

4. carbohydrates
Options :
86435198055. 1
86435198056. 2
86435198057. 3
86435198058. 4

Question Number : 98 Question Id : 86435128402 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vitamin necessary for coagulation of blood is
1. vitamin B
2. vitamin C
3. vitamin E

4. vitamin K
Options :
86435198059. 1
86435198060. 2
86435198061. 3

86435198062. 4

Question Number : 99 Question Id : 86435128403 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is found more in the human milk in comparison to milk of
cow, buffalo and goat?

1. Starch

2. Fructose

3. Lactose

4. Cellulose
Options :

86435198063. 1
86435198064. 2
86435198065. 3
86435198066. 4



Question Number : 100 Question Id : 86435128404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Foods from the meat, poultry, fish, dry beans, eggs and nuts group are an
important source of

1. iron

2. fibre

3. beta carotene

4. calcium
Options :

86435198067. 1
86435198068. 2
86435198069. 3

86435198070. 4



